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TIME & WORK

Wavk - Amd amgunt ot 4ob deve in svder }» wachioye
Aemeﬂu'm% in vesbeck of, Xeme 18 wcalled worerk:

Time - 4t 12 the duvation. .B‘F time Raken 1o Mmfﬁnh
He_  aserk

E H«Lcﬁmua ~ 4t s Be amsurk of werk dene an .
Amd oy va mevith 8% .am Heur.

Formula +

Tolal Werk = Time X Eﬁm"““*
Tolal W oale |
Eﬁm&ﬂ.
Efjlctoncy = Tatal aoork
 Time

Time =
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Tot
°p

PRACTICE EXAMPLES

BASIC QUESTIONS TYPE

Q.1 A.camn.do.a uork im 20 dagl, B camn do the camme Luork Am 10
do it togethen?

sad:
Baste -

Lek the wwerk 18 X

Wank dlome by A 40 20 Days L& X
.S
206

W avk dene b‘jﬂm j“bwd

ke dome by B n 10 Do 13 X
1D 1 %X
Woask dome by P RS
NIH A= X |
&\.FH‘LMY‘C‘J D’ﬁ' 20 . \
\ o S
B
Total Time = Telal uoode.
Tehl Epfrency
= K
x + X
90 1°
= K = % =20-= C%d‘?
A+ 1K e 3
26
Fpymula- n
Tame Joken b’}]A: 2o Dwd&: 1
=kg

"t‘)( *—'L
A1+ Xo

— 90Xlo - 2060 = é%‘daa&
30

dags. so im how mamy dagyb cam Aand B

TRICK
: Jo =’.\V

A-20 D%E

B - 1o Dagt 28-1

Leuim
o A
%_Tmlw"k
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Q-ZAm,do.th,emoMI/n42da#a.A,a/ndB.to cam
complele the came work im 14 daygs themn im Aot amamyy
dagys can B camplete the carme work?

sod:

A- 42 ‘d-"*dé$ o - TW
A+B—L4vdmj4’— 3
. 8 - CA--}—B)— A :_3-—1:9_.
.bH—-LC,LQMLB -v*& =
¢ — R+
Bs Lime = %,9\ Dwd
Q.3 Aman, a worman and a child can complete the work im
s dayo while the woman alome can complete the Lcame
work im 12 dags and a chlld can commplete the wwork im 20
alome?
Mam + Woman + CAUL -5

12
Weman — 12 >§ Co
chdd - 20

M .am's -Q/Hiuz\r\,ud =12 = 65*3)

= 4
M avis Sme :_{;t = 15 days.

sod:

Q. 4 x.and vy can Logether do a work im 12 days, Yy.and z4in 1s

and, z.and x in 20 days then im how mamny dasgs
wild %, y.and z.do i Logether?

sol:

y+1—159%p2 56
7 + X - 20 Dayp”
Eﬁidemctd ﬁk)‘; N, -
K4y & YAz AT X = 5HTS
9 (X+Y+LD =12
X+Y+tZ :%:é
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Q.5 sunita and amnita working alome cam Ao a plece Of Aok
in 8.and 12 daye reopectively. | sunita, anida and ravita
Ao it together cam do it im a.dags them im how mamy dags
wild rarvita do i alome?

sad: 24 Daye

Q. 6 Neah and pawan can do ajob together im 18 dagys, pawan
and swmit can do it Logether im 27 dagys, swrult and Ndeah
cam do the same work im 36 .dass then im how maryy daga

sod: 216 daya

Q.7 A.and B.can together do a wonrk im 30 dagys. B.and c.do the
Lame job im 36 .dayo while c.and A.do & in 45 dayo, L0 Ln
how manyy daygs can A adone, B .alone and ¢ alomne do it
Leparaltely?

sol: 72.days . 51§.daé,co . 120 daye

ALTERNATE DAY TYPE:
Q.8 A can do a piece at work im 20 dags, B can do the same
Job im 25 .dage. | they work alternatively and A starta the

fimniohed?

sol:
A 20 Dop—2
B- 95 DO"d/34>l°°

15*41&7 arord b*d A-S
i“ddﬂ‘a MO“‘L(b"j > -4

9 ,oln.ad/s LIOYM q

L
an l"l

22&@36 qq

Remaiming work = 100-99 =1

; Aeil. =L .&A 3
Next .&wd Twevk woll be voleﬂt‘b?o{\, = '"‘Q"L 5 ;d
otal ime = 22 daygs 1k P = 2275 S
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Q9 A B.and c cam do a piece of work im 1s, 20.and 30 days
reopectively. A bstarts the work and work Ll the wwork
finiohes while B + c helpa A in alternate dagys teahmn im
howt mamy dagpe will the work be finiched?

sal
A - 15 .days- Y
B- %0 dws%(,o-'ﬁw werk
C - 30 ,ol.mia
istolma wevk «deme b A vand B - ::z f::
27\4 Aav‘d wrevl dene }_»‘d AA'Y\CL c - = .
?_d.waé Lo
‘LxH \LXL‘
8 s 52
Remainin wrewk = bo-52=38
Next .d J-\)’&rk-.o[-emg]MJAAnctB:#)(j_zlP
Remaining woerk = §-F =1
Next v 'ﬂmrk»clme_hblAvqnolc:—‘é—vAﬂ-ﬂ&
TMTLML=8+'1+_{_
=q 3
Q10 A LRM L0 2 pieice Bf seosk L 20 . B.can do the same

Aol im 25 dagys. |f they work alternatively and B.otartsa the
fimiohed?
sod: ZZ%DAYS

Q. 1l A B.and ccam.do.a.iwork im 12, 1s.and 20 dagro reopectin
A Llarts the work amd wonrk till the end while aamjééc‘

W A.:/uu.g.aiaéz IN/LaLa/rna/néz,daé;A will the work be

1
sod: 75 DAYS
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WORK LEFT BEFORE AND AFTER:

Q.12 Acam do a work im 1s days while 8 can do the carme work
An 25 daye. They atarted the uork together but after s days
Alqltﬂmuw/zk.aoim/z.owmwnéz,daga B finishes the
remalmimg work?

sat | 5udoys | |

| A+B T |
5
A - lS'sdﬂJdé 35
B- 25 olys >
| S days |Rewaind )
lAJfBzg,_"f]B:ﬁ'y:‘g;,_s; = \\'3"&1(’6

Q.13 A camn do a plece of wmiork in s .days, B.can do bame work
Am 40 dayas. They atarted the uwork together bud alter somme
Lime A left the wonrk, ¥ the Lotal wuork ia fimiohed im 32
daéwﬂw/najéteﬂ/ww/mamgdayadZdALewweMz}ob?

sad:
é" “:1|5jmj5q8>_340__—rm wevk
= A 1
M B .did the wvevk 4&07 aw-hsle Elme
Se woerk deme b:d BP=32x9=9288
Remaining wsevk = 360 - 288 =72
As Time = F2 - q Da.:dzs‘
3
Q. 14 A cam do a job 20 daga and B can do it in 24 days, © cam
do i im 30 daya. %MWWMMWMMAL@#
the work SWWWAMDDIMMWCWWMM
e,d%mb.encoﬂzﬂmmmaomo{mﬁkﬂw/nbn/wwmw/né;
WWWWWM&ZWP

sal: Bagie ; A—Qod.md»s =

B- QL!\AN(’A 126 T W

c- 30.das

5 dogs 151 ke
BB oS S0P

‘ Ex\5=35 l: 120 - (#5130

LXx5=30 \
= 15

e £ = 19X
T astald Jtum,5+1q t¢ =193 \A-a,gé
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# TRIcCk:
Tatold asevk

g Q_Q/H {:u‘u‘ud _yﬁ +-LY&0—Y1 whe hﬁi’: X Tlme »a.h.tu K&w’vﬁuﬁcﬁﬂhﬁi&)
= en yaen urh Tim ve - tim
Q‘Lﬁue_ud%»‘g&a 8 Bt xTiome befare wgwﬁ
((Tatd Werk) + (Sum of efflelency of people wrho ws0rkd)

20
-‘30 = 5 Xé

+Q.‘-|:-47\L" 2. -
Y = Ny «:—___\?—3

Q.15 A cam do a Lhork I3 8 days, B.camn do the same im 16

and ¢ can do it in 24 days. They atart the wuwork
WA@MWWWWCWW}O& 2daé,wb,e,£onzrfz_e
mmz,ale@mo{fhzmﬂwnda&,(tﬂw}o&omdagaftuﬂw
clza/u,eaﬂm;ob. mut/wt.&'/rneuuﬂﬂmuz/wj,ewojzk.&e
fAmiohed?

A-3
B- 1¢
c-24

sol:
43

b3
4 oy = 2*X2

+ 03 = 3x1
&5 55 - 5 .doys.
C+3+2 = T
Q.16 Ao a ok im 10.days. B.do itim 1s.daye, they atart the work

Lo Lthen Hhowu ' -
Wﬂuﬂ#@_ znﬂifnydagwawmwﬁlfﬂw

Q. 17 X cam Ao a wuork im 30 days, Y can do the same work im 40
dasgps, z cam do the same 20 daya. %xLe,Ltffz.equa,{tu4
AULONK. somxmhawzmamgdayamumwﬂkbz,wrW?

sol: 12%0;\\'5
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RATIO BASED QUESTION:

Q.laRaao.o/.e,(,a.cw/m:g.o{ AandBio s 7. Y Acamn do a work
Am 21 dagpa them im haw mmamy days will B finioh the wonrk

alome?
R1ck
sal: Bagic F\—A‘B ’
‘5*::2 efloienty 5 % | When dotal aoee

. y ‘en A:S‘)L L4 AU
Mt&ﬁngjsqu Xj/ H eﬂ MWX\

Talal werk = 5% x21=105%

21 LSdnJA
Bz Mme = Talpl uotok. = 105% - [ 5doy!
—eﬁ-ﬁ-t.u-mad ‘-fx
Q. 19 The workimg capacilty of A Lo sox smore than .. Y A can

Q ALONK im 12 daga them im howt mmamry dasge can
B camplele thia work alome?

155 to©
F 21 @H«Lu@nﬁa
2 '3 - kime
X6 xé

£
a.onMMogﬁgm.o{ X L& 60% /more than v. | they
work Logether cam complete it im 7 dags then im how
anamyy dagys wdld y fimioh i
501:18%DAYS

Q. 21 The ratio of efficiency of Aand Bis 3 : 4. Tx'/mz.takembg B
La 9 .daya them im howt mmuch Lime wdl A camplete the total
LUOSK?

sal:12 DAYS

pme ZH1S L8 Same.,
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MDH BASED QUESTIONS:

Q. 22 1N Lhese Iype of queslioms, we compare thimges uith othenr,
ome poimd Lo totally given eocamimer and im amother
p.oxmtA.onnzﬂumgwmuaomgwndwﬁauezoWIhat

Sa0 vl

My Dy My X Obher 1, py Hy X Bther

1,V~ﬂ=L W2
M - HG*\/W&mon/d\iLdlfbum'
D- 'DcudAs
H - Hourd

Q.23 6 pua.o)r'%[u}j?&zgmzp&te a work im 10 dagys them how

wmmwazgwﬁedtomnnplztzﬂz@mxzkm 40
?
sol: _M191H1 = Mgy Py Ho
Wy Wa.
1Ex1o = AHUXHO
1 1
Y =Y ‘Do)d,g.
Q. 24 20 /mem .do 3/5 of the work im 450 daya them how mamny

75 .dasyoe?

sal: 202450 = X x5 Totol qruants O“b'".a
3/5 - 52 Wk 18 4 L sz
20x U450 x5 = AXFASAS
3 %,
80 men = o

Q. 25 280 womem cam commplele 3,2 uork im 80 dayra them how
mamyy women are reguired o commplete 7,2 work im 40
dagro?

sol: 240 WOMEN



_— [T
l@jphg}ww@ On

nleash the topper in you

Q. 26 20 children cam camplete 2 works im 40 daga, ALONkiTG 8
houras penr day. sSo 40 childremn cam do | work im howut many

daya, if they work 4 hours per day?

sal: 20 DAYS

OR - AND TYPE QUESTIONS:
Q.28 i 4. memn oi 5uw/m,e/n,ca/n,camplzte,amozv€,un 43 dago

them im how mamy days 3 onen and 7 iuonrmem cam

commplele itz
S04 Basie -1 # TRICK/BEST METHeD
3“ U men tevk then wserk = YmxU3
Um=5¢00
g), 5 ayemen JOOvK Lhen aws =5wxis S|
40 =y O 5 Y
BWwm X4z = So00x4i3 WHDH#M.
™M =5 #®7v Ym=c 5.0P Um xu3 ::émﬁ-:lemt
W H {m =5 w fw=Jdm
y 5 | Yx5 xU3 a5 AU
Let veonsider eq (1) Astal usowk | % = 20 Days
H\L'Y' : o o C}woétmﬁ-wmmll
Time falcers by 3men«and T Lobrmen = v pr" yelalzd. dalh

= Yma U3 =Ymxu3 {Lw:im SWxH3 (3m+Fo0 DAK.
5
3m +Fw 3**‘*:”%4—*" 5XYnr43 C3x5+‘+><w)>t

U UwXY43 = Um xUSXS W= 20 dmd:&'
|5 m+L3M H3m:
S S 20 ydﬁ‘d's‘
Basaic-2

Hm=500 G—t 8 fg,'nd Ln Baxfc'iﬂt)

Iwm = _5:3_9_'
L{
Lekls wComaider: dutnp wovie 4™ (D
pvom Bosic- 1 then ',
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"T_ucvno_b.kan 5«3 3men vOnd F Wemen = 500 X 43
3M + o0

= 500 %x43
2x 3 _w +700
"

= S50o6XU43 = %0 vdna&.

W3/,
_Fermada wethod - A
HW/_\L;?, vd.wdé"@
3 vn?f’:wo e .olmdz. -®

Lek's mu,&xfla eq"(© vall dala and wblvldz.b'j Aum
24 vevsss maddiblios of mumber .
= hx5 Ax43 = Y xX5RY3 :iopd,md,g
98+ 158 ys

Q.29 Y 4 memn or 6 women onr 8 children can do a job im 39
dagpo themn im how mmany daga can | oman and | wosman
and | child cormplete J»
Um = oo = 8C
™m 60 @ C
6 x8 @ UX8 @ HUxe
L:'y:'3 Hwn x 39 (Lm +1L s +LORK
UXEx3d9 (E+4H +3D X%
l'—!x}*ql—'-JZXL ::;z,dmdg:)g

@.30 3./mem on s.iuamen can complete 3/4% part of the job im
40 daya them im how mamny dayga s men and 7 wommen

can commplete the whole work?
sod: 17% DAYS

sod:
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Q.31 3memn .o 6 women o 12 childdren can caomplete 4,77 panrt

©of The job workimg « houre a day im 30 daye. Then im Aow

many dage cam 2 men and s wamen and 2 children
szﬁmqmﬁamm 3 howrs a day?

sol: 12 DAYS

MORE TIME TAKEN TYPE QUESTIONS:

Q 32salmam alome takes 4 more days tham taken by salman
and Ruohid together while doimg a work, rushid alome
Lakeo © mmore days than Lakem by salmamn and rushid
I.og,et/w/z Matwﬂwﬂﬂnemg’mby salman and radhid

\MLQ- #TRICK-
Let's vemardere Liwe faken | Maddb the mexe ne. ﬁﬁ oi—
b'j Aobman vomd. Ruthid 48 X | bath oand undeyy
pres JISTEENTL) vﬂd the hm&ialcm
Salman - X+ (X+9D b‘J outh.

Rushid - +9— (xtY) S Juxg = 6 vdnas
(K +9) (YD - Tall werk

Tme Aoken Lud Aolvwom and Rughdl
(H+2) (K1)

A+ +A+Y
AN FHUR T 3E = K
27+ 13
K4 13K +36 = LT (3x
9_)(9'_ 3¢ = 3¢

‘X_:éw‘.ozs.
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Q. 33A Lakes 36 smore days tham Lakem by A .and B Logether,
Ltakes 64 amore dayps tham taken by A .and B logethenr, Mar
i the time takem by A alome im doimg the commplete wuork?

sal: 84 DAYS

Q. 34 x takes 16 mmonre days tham Ltaken by x.and Y togethenr,
Y Lakea 25 smosre daye tham tokem by x.and Y Logether. what
Lo the timme takem by Y alome im doimg the complete uork?

sal: 45 DAYS
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WORK & WAGES

Nages e wlistributed an the basis sf Work Wdene by
Powen 4) the work is teme for alt dhom & i Wistibuted

BN the bowid ) thun ‘c’,gﬁ;"c?emy.
When wonk done 15 welifferend 4o all them:
Nogeb Work done-

Whem wonk done is dame fon -t thom

Wages K ef§iciency.

PRACTICE EXAMPLES
Q.1 sund can do a plece of work im 20 dasygs whide suresh can
do the aamme work im 30 dags. | they finioh the wuonrk
Zogether amd at the end of the smomih they gel ra. 1soo0o0.
what Lo the part of sunid im thia armount?
sas: Basic:
Su'n‘\,»( ‘QOdaYs >‘3 éoarrot(‘b\' NDY\R
Swiesh - 30days
otat time When they WoTk 2geth

Wonk done by gumi) ! Wonk done by cuiesh:

30 =6(y 2124Ys

e L HAmounk %on Lumil?8 36 10N
36 + 24 c,
—= 1500 3
drmoumd fox 60 Wonks =15000 15009 y 74 = 9000F

£ ¢
Amount fon | wWork = \Sczoo
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%2 A Band c.are employed to do a job im ra. 522. f Aand B
Logethen do the 2 part of the work, somd c together do the

15th
o9 Rarl of the work. rind the share of A im thia amount?

sod: .
Basic de3 tutal worK is% Aok dene by A= (A+B) -B
WOk done by R z - = 3

¢ by Ramd 8 %x 0 ’23/23‘)( 9/23%

W

OMR done by B amd¢ =_%1 - ® A =14% /g
Add 297 () gng tqn @ Work done byc = (84 ()-8
AABERTC= 23 vt 5 =19, 9L _ g6X

29 19 7.3 ﬂ’_ff') ) -5-—3‘
A+ 2B+c > 33X R
29

Wx < 9% 06X

— p—

(P+2840- (A+pr)=38X.y 28 28 24
A9

=9y Ahare of A= 52q/19m S 1gXIH =252%
29
a.3 A, B.and ctogether camplete a wuwork om the comiract of Rra.

17th

729. %Aaxndatogzthmmmzp.&tz—mﬂo{rhzuwzk Then
howt muwch amomeyy ¢ gelo?
sl {gy Yoted WONR 1527

Aond b tog&hmdb: 17 /ﬂn‘l =17
wionk done by ¢= (A1B+() - (A+B)
=27-17 =10
Money ¢ qets ='7'29/ﬂxlo:a'lo"c'-
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Q4 A Band c.togzt/\m,ca/nzp.(,ztza.comjm Ra. 289. A.and

8 Logether do oo pant of the comitract, & and ¢ togethen 4o

W%Pﬂﬂfﬂ{ﬂm contract. what is the part of B in the

amount gottem by all of theoe?
sod: si

Q.5 A.and Blogether cam complete a uork im 18 days while A
alome can do that im 36 days. yatm,e/ndo{tfmmwmfﬁ
they get rRa 25 from their wwork. what is the share gollem
by both separately?

sol: 112.5, 112.5

a. 6 Aand B logether cam complete a sork im 18 .dagrs while A
alome cam do that im 36 daya. yatrh.e,e/nd.o,lr/mmomﬂi

they gel RA. ZZSMMMOM. what Lo the share golilemn
by bolh separately?

N Yoz

sol

Ratly sf Wages= 3% 5 2
X % Vv ', 27
Radio 8 %10 ¢ 5127 2%15

ool Woges:
| 25 ° 6o ¢ 30 =120

l/'ﬁlo lxlo

007 NUD0 T
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Q.7 X Y.and z completed a work cobling Re. 2400. X wosrked
for 1odays and ¥ for 12 days amd z for 15 daya. | their
utages are im the ratio of 3 : 5 : 2, how much armount wild
Lo receinved by Y

sol:
: X ¢ 9L 2
Rat .
OepNgE = 3. 512
Ratto o totgl wogs X2 Y172
3%lo : BXI2 . 2¥%15
kY 0 60 30 =120
20 1 %20
\200% 2400%

Q.8 A camn do a MOorK im x9da.y¢>amda,ca/ndou‘m 57 .dayo.
They atart workimg togethenr bul after 5.days Bleft the wwork
u.md/zmnmmung,cuomém.dombg A alome. Eor thie wwork
They get Ra. 5700 themn Aowt smuuch amownt wull B get out of

total amount?

sod:
A-19days ~3 ¢
B-57days Fl

3 Wonk %&Hsvdwé& y» A0 Wouk OJBowVB= 1X9=5
Work done byA=57 -5=5)

WOHR s{{ A= WOHK o% B
592 & 5 =57

LX'OO \\'XIOO

boo T DT700F
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Q.9 A.does a.work for 4days and B.does it for s dags, Y they
MWzWPWWpAMwMMWM
810 then what will be the chare of A im that armount?

sol: 360

Q.xOA,amdaJcam,do,auwMjmzsdaya,a/ndzo,dayo

nreopectiv . B atarts the work and after s days, A
?FMWW@{ A im Ra. 6000 after the
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PIPE & CISTERN

p&?u Al CAsten J&opdo s baded von the &memup:t
Wb Aime vamd WK - Hene thd dfvggmm W Wonk s

wdane by Pkt omd thoie »it yyab dene by %ummmbeinjf
In 1his Aopic y Ne cemsident Wnﬁ it Wdh B J.&fa/n

vond %Llat\fmj pi‘be with {-’/8‘877:‘

veohocity of astem s 4 7 the maximum power s Jholding ot

Mhtai’nfn(j vﬂi’qufd i he wistem.

4y o e

4¢ 1h the Buantidy 8 Liguid flow
Stebhect 8 M howt 041 0 minuke o1 O decond -

Time 5 - 44 'y the fpm‘f’od o% Hme YoKen To »B»t,Ul 0 o

omoumt 6 Liguid-

E&M 4 pibe x Time = Totod L&lwu’,tyw

\%"u’eﬂﬂ‘i of hipe= Total Ca\oacj;byJ

s thriough bike o Ahole in

Time

Time = Total mbwi_“/_*
thficiency uof pipe
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